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DIPLOMA IN CIVIL ENGINEERING
~ [DCLE(G)] |
Term-End Examination
December, 2019
BET-023 : ELEMENTS OF SURVEY

Time : 2 Hours Maximum Marks : 70

Note : Question number 1 is compulsory. Attempt
 any four more questions from the remaining

questions. AJl questions carry equal marks.

1. Choose the correct alternative : Tx2=14 .
(a) Geodesic surveying is different from plane
surveying because of :
(1) coverage of large area
"(i1) the curvature of the earth
(iii) undulations of the topography
(iv), -the large difference of elévatior_ls
between various points

(b) Which of the | following is an obstacle to
chaining but not to ranging ?

(i) Hillock
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(ii) Building

(1v) Cmexi}a[ ha]l R Coire :
(c) I the fore beax;m,gﬁ L " ‘1'1.1;@518 4‘5°. then 1ts

back bearing W1ﬁ L
g bl s
®» 4

SR it
(i) Qqum THOY DETUATIRE Y b
Gy 1go°
(d) The fo]lowmg s;ghts are taken oq a turmng
pplnt __ v
. @Eem,nght and back. mght
” (li) “Fore sight only i+t 1o
i) Back sightt omby 10 vl e
__ (1v) F ore sight and mterme(hate sight only
(e) l”"'i*he process of turning the teiescope about
© the vertidhY' axik ' i 'hdﬁ%n’tbl plane is
knowmager oy orbd o n sl
() - transitingy pabtibh o 0 e
(ii) smng_mgjm.as S R e T
o (i) ¥eversing' v 1T i betunl
Gv) plunging” * """
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(t) Ubntourlm,ervalls bl i)f serod

(i) the honzmtal :distdnce - between ' two

consecutlve cont:our&i o
LIl

() thehorizontal distance betwee

e

n two

points on same contour'
(m) the vertical distance ’ between ‘two ‘
consecutive oontours FITTTINE
(1v) The vertical dmtance between two
- points on same contour 7
(8) The two point problem and threepomt
mbbmammaﬂamole Wi heavnelt o

7@ I‘esectlon ‘ . ; PR e 'w.f:,,
(i) orientation T OY VL
(iii) intersection o eng g (i)

@iv) resectlon and onentaftlon e
B - ’\;';"L?

. (a) Classify surveymg based on metl}

phases. A 7 .
(b)~ Describe:diffsrent types: ofrmdpsf‘aﬁdi%ﬁbm TEIRY
dll-epresentat‘l_ve‘ gcqle o g 7, 4 ‘
(a) Describe the pmngmp,le* poqstruacmnand
use of an optlcal square 7 .
_____ : ‘ if e xu ﬂ [ 5 l'
(O kb Vthe™ " différent chaim/ta e
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Define the following : Tx1=17
(1) Magnetic Declination
(ii) Isogonic Lines
(iii) Agonic Lines
(iv) Magnetic Dip
(v) Traversing
(vi) Local Attraction
(vil) Damping
Convert the following reduced bearing to
whole circle bearing : =~ | 7
G N70°30'E
(i) S40°20' E
(iii) S 55°30'W
(iv) N 40° 30'W
Describe the adjustments of dumpy level. 7

Discuss the principle of reciprocal levelling
with the help of a neat sketch. 7

X%

Explain the advantages and disadvantages
of “Plane Table Surveying”. 7
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Describe in detail, how you would
accurately orient the plane table at
a station using two point problem

‘technique. : 7

Discuss the measurement of horizontal

angle by method of repetition. ' 7

Explain the procedure followed for
removing the parallax during setting up ._
theodolite at a station. 7

8. Write short notes on the following: 4x 3% =14

(a) Offsets |
(b) ‘Face left and face ﬁght of observations by a

(©

i;heodohte_
Lehman’s rule

@ Contouring
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